
答え：

3 重さ500　の箱に、８　 200　の荷物を入れて送ります。

全体の重さは何　 何　ですか。

答え：

2 重さ１　 700　の商品を、100　の箱に入れて送ります。

全体の重さは何　 何　ですか。

答え：

日にち：　　　月　　　日

名まえ

1 重さ300　の箱に、７　 100　の荷物を入れて送ります。

全体の重さは何　 何　ですか。

④ 確認

4

式：

式：

式：



＝
答え：

3 重さ500　の箱に、８　 200　の荷物を入れて送ります。

全体の重さは何　 何　ですか。

答え：

2 重さ１　 700　の商品を、100　の箱に入れて送ります。

全体の重さは何　 何　ですか。

＝
答え：

＝

日にち：　　　月　　　日

名まえ

1 重さ300　の箱に、７　 100　の荷物を入れて送ります。

全体の重さは何　 何　ですか。

④ 確認 答え

4

式：

７ 400

式：

１ 800

300 ＋７ 100

７ 400

１ 700 ＋100

１ 800

式：

８ 700

500 ＋８ 200

８ 700


